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Jo00o00o0d,0000000 SQL>desc
dba_ind_columns.name null?

------------------------- index_owner not null
varchar2(30)index_name not null varchar2(30)table_owner not null
varchar2(30)table_name not null varchar2(30)column_name
varchar2(4000)column_position not null numbercolumn_length
not null numberdescend varchar2(4) column_namel] [J [0 [ [0 [
OO0, column positiond DO OO O0UOOO0OOOOO,
descend] O 0 0O 0O O, O ascl descd O U O descd O O O OO
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[ index_nounig_column_numU O O O 0O O O nonuniquel [
OO000,000000000SQL> create view
index_nounig_column_num as Oselect



tl.owner,tl.index_name,count(0) as column_num from
dba_indexestl,dba _ind_columns t2 where
t1.uniqueness=NONUNIQUE and instr(tl.owner,sys)=0 and
tl.owner=t2.index_owner and tl.index_name=t2.index_namegroup
by t1.owner,tl.index_name order by t1.owner,column_num. [0 [
Jo000000d0o0dodododododindex_columns, O
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[J SQL> create table index_columns(index_owner varchar2(30) not
null,index_name varchar2(30) not null,column_names
varchar2(512) not null)tablespace users. O U 0O O O 0O 0O O O O
OJO0000000000000 0 index_columnsd SQL>
Insert into index_columns Oselect
tl.owner,tl.index_name,t2.column_name from
Index_nouniq_column_num tl,dba_ind_columns t2 where
tl.column_num=1 and tl.owner=t2.index_owner and
t1.index_name=t2.index_name order by

tl.owner,tl.index _name.SQL>commit. O O OO 0O 00O OO O
DO000000000000index_columnstd 00O OO0 O
(1 O getcloumns] O O Oselect_index_columns [

[1 getcloumns:create or replace function getcloumns(index_ownerl
In varchar2,index_namel in varchar2,column_numsl in number)
return varchar2is all_columns varchar2(512). total_num number. i
number. cursor cl is Oselect column_name from dba_ind_columns
where index_owner=index_ownerl and index_name=index_namel
order by column_position. dummy c1%rowtype. begin

total num:=column_numsl. open cl. fetch ¢l into dummy. i:=0.



while c1%found loop ;=i 1. if (i=total num) then all_columns:=
all_columns||dummy.column_name. else all_columns:=
all_columns||dummy.column_name||,. end if. fetch c1 into dummy.
end loop. close cl. return all_columns.exception when
no_data_found then return all_columns.end./ 100Test 00 OJ O O [
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